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Warm Up
Given the quadratic described by the mapping
 (x, y) ⇒(x + 2, -2y - 2) ...
• State the coordinates of the vertex
• State the equation of the axis of symmetry
• State the domain and range
• Express the equation in standard, transformational,
  and general form
• Sketch this quadratic

Determine the vertex of the following quadratic:
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Determining Quadratic Functions From Parabolas 

•   In order to determine the equation of a quadratic,
you need to know... 

(1) the vertex and another point on the parabola

or

(2) any three points on the parabola 

  

•   STEPS:
(1)  Build the standard form 
     of the equation using the 
     known vertex.
(2)  Let "a" represent the 
     unknown stretch factor.
(3)  Substitute the known point
     into the equation and solve 
     for "a". 
(4)  Replace "a" value in the 

 standard form equation. 

ex:  Determine the equation of the parabola having its vertex at  
      (3, ­5) and passing through the point (5, ­17).
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EXAMPLES:  Determine the equation for each...
#1. #2.  

#3.  vertex:  (0, -3)
point:  (-4, 37)
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Example 4:

Determine the equation of the parabola that passes through the 
ordered pairs (‐1,6), (0,1) and (2,3).
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5. (a) Evaluate ™

(b) Convert each number in part (a) to polar form, then convert the
result to polar form,

() Examine the rumbers in part (b). Explain how to evaluate any
expression involving both multiplication and division of complux
numbers in polar form.

(d) Did you prefer to evaluate the expression in part (a) in
rectangular form or in polar form? Explain.

Check Your N
Understanding
Q {4+ 4if1 - o)
6. Danielle and Marcos evaluated ~—— =

20V/3 — 20i, Solve their problem using complex numbers in polar
form by following these steps.

(@) Convert each umber in the expression fo polar form.
(b) Find the solution using complex numbers in polar form.

() Convert your answer to rectangular form. Did you get the san:
answer as Danielle and Marcos?

IR
7- Bvaluate 53730 15 ] by following these steps
() Convert each number in the expression to polar form.
(b) Find the solution using complex numbers in polar form.

(c) Convert your answer to rectangular form. Compare it to the
answer obtained by evaluating the original expression in

rectangular form: —-£-(V3 +

8 Evaluste T35

1] by completing the following steps.
(@) Evaluate the expression in rectangular form.

(b) Convert each number in the expression to polar form

(€) Eind thie solution using complex numbers in polar form,

(d) Convert your answer from part (c) to rectangular form. Did you
get the same answer as in part (a)?






SMART Notebook


	Page 1: Sep 12-3:49 PM
	Page 2: Sep 21-9:59 AM
	Page 3: Sep 19-4:24 PM
	Page 4: Sep 21-10:14 AM
	Page 5: Feb 12-8:06 PM
	Page 6: Sep 12-10:46 PM
	Attachments Page 1

